
Spare parts for:

Suitable for:

This catalogue is automatically generated. 
Therefore, the sequence of the items might 
not be always shown at best.
Updates will be issued in case of additions
and/or amendments.
Suitable universal spare parts may not be included

<T1

ALBA
T1>

Suitable for:

This catalogue is automatically generated. 
Therefore, the sequence of the items might 
not be always shown at best.
Updates will be issued in case of additions
and/or amendments.
Suitable universal spare parts may not be included

R
e

l.
 2

0
1

6
-0

7
2

2
0

8
3

4

Cooking equipment



Suitable for: Suitable for:

<T2

Burners, flame spreaders and accessories
T2>

<|

3 0 2 5 2 8 4
|>

FL A M E  S P R EA D ER  ø  1 0 5  m m
<|

3 0 2 5 2 8 9
|>

A ER A TION  R EGU L A TO R
internal ø 42 mm - external ø 45 mm

  height 50 mm

    

ALBA  203312841005  

<|

3 0 2 5 2 8 3
|>

BU R NE R ø  10 5  m m
<|

3 0 2 5 2 9 0
|>

JET  H OL D ER
nozzle hole M11x1

    

<|

3 0 2 5 2 8 5
|>

VE NT U RI F/FL A M E  S P R EAD ER  1 0 5  m m
<| |>

    

<|

3 0 2 5 2 8 1
|>

FL A M E  S P R EA D ER  ø  8 0  m m
<|

3 0 2 5 2 8 9
|>

A ER A TION  R EGU L A TO R
internal ø 42 mm - external ø 45 mm

  height 50 mm

    

ALBA  203312841004  

<|

3 0 2 5 2 8 0
|>

BU R NE R ø  80  m m
<|

3 0 2 5 2 9 0
|>

JET  H OL D ER
nozzle hole M11x1

    

<|

3 0 2 5 2 8 2
|>

VE NT U RI F/FL A M E  S P R EAD ER  8 0  m m
<| |>

    

<T1

ALBA
T1>



Suitable for: Suitable for:

<T2

Cables for piezo igniters
T2>

<|

3 0 0 1 0 2 8
|>

IG N IT IO N  LEA D  5 0 0  m m
<| |>

with faston ø 2.4 mm for ignition
 with faston ø 4 mm for sparking plug  

    

ALBA  341500024004  

<T2

Capacitors, electrical
T2>

<|

3 0 6 8 0 8 1
|>

C A P A C IT O R EL EC T R IC A L  1 2 .5 µF
<|

3 0 6 8 0 7 9
|>

C A P A C IT O R EL EC T R IC A L  8 µF
450V 50/60Hz - ø 35xh71 mm 450V 50/60Hz - ø 30xh71 mm

    

ALBA  15081  ALBA  16043

<T2

Clamps
T2>

<|

3 4 4 9 4 5 2
|>

H OS E C L A M P  1 6 -2 5
<|

3 4 4 9 4 5 3
|>

H OS E C L A M P  2 5 -4 0
for pipes ø 16÷25 mm for pipes ø 25÷40 mm

 made of stainless steel AISI 304  made of stainless steel AISI 304
 height 9 mm and screw E7  height 9 mm and screw E7
 suitable for food industry  suitable for food industry

    

ALBA  11807  ALBA  11806

<T2

Contactors
T2>

<|

3 4 4 6 2 1 4
|>

C O N TA C T OR  L OV A TO  BG 09 T 4 A
<| |>

4KW 400V 9A - 4 normally open contacts
 coil 230V 50/60Hz  

    

ALBA  15086 ALBA  15086/F  

<T1

ALBA
T1>



Suitable for: Suitable for:

<T2

Drain taps and accessories
T2>

<|

3 3 5 6 1 7 3
|>

D R A IN  TA P  ø 1 "1 /2 F
<|

3 1 7 9 0 1 0
|>

FITT IN G S SE AL ING  TA P E L OC TITE 5 5  - 5 0 m
complete with food grease tube length 50 mt

 GASKET SEAL  suitable to hot and cold drinking water, gas
 fixed connection ø 1"1/2F  replaces pastes, hemp and sealing tapes
 made of STAINLESS steel  it allows the repositioning of couplings
 IN COMPLIANCE WITH EUROPEAN REGULATION 1935/2004  in compliance with the lastest regulations
 FOODSAFE  Drinking water (Italian certification by C.S.A.,
  according to standard KTW and WRC approved)
  gas - water IMQ-UNICIG.
  compliant with UNI EN 51-2 class Arp
  approved by DVGW and DIN 30660

    

ALBA  541933101088  

<|

1 1 8 0 0 0 1
|>

G R EA SE K LU BER S YN TH  UH 1  1 4 -1 5 1 4 5  g
<|

3 1 8 0 0 6 1
|>

T AP E FO R  JOIN T S EA LING  L OC TITE 5 5  - 15 0 m
food safe grease for lubrication length 150 metri

 of all friction points  suitable for hot / cold drinking water. gas
 ideal for water and steam taps  replaces pastes, hemp and sealing tapes
 operating temperature -45°/+120°  it allows the correct replacement of fittings
 beige color - NSF approval H1  compliant with the latest regulatory requirements
 hot and cold water resistant  Drinking water (C.S.A. italian certified.
 high anti-corrosion power  in line with KTW standard and WRC approved )
 can replace vaseline  IMQ-UNICIG gas-water,
  compliant with UNI EN 51-2 class Arp
  DVGW and DIN 30660 approved

    

<|

3 1 8 0 0 3 9
|>

VA S EL IN E 7 5 0  g
<| |>

for lubrication of food processing machines
 it protects chromed and rubber parts from  
 weather factors, moisture resistant,  
 operating temperature from -10°C up to +120°C  
 from +50°C to +120 °C the grease becomes oily  

    

<T1

ALBA
T1>



Suitable for: Suitable for:

<T2

Electric hot plates
T2>

<|

3 3 1 1 1 7 0
|>

EL EC T RIC  H OT  PL A T E ø 2 3 0  m m  2 1 0 0 W  2 3 0 V
<|

3 3 1 1 0 5 4
|>

EL EC T RIC  H OT  PL A T E 26 0 0 W  4 0 0 V
faston electric connections dimensions 220x220 mm

 complete with energy adjuster  terminal block electric connections
 for glass-ceramic cooking top  with STAINLESS steel edge
  for electric cooking top

    

ALBA  541524210040  ALBA  541524400220

<|

3 3 1 1 0 6 3
|>

EL EC T RIC  H OT  PL A T E 30 0 0 W  4 0 0 V
<| |>

dimensions 300x300 mm
 terminal block electric connections  
 with STAINLESS steel edge  
 for electric cooking top  

    

ALBA  000400000010  

<T2

Electrical gas valves and accessories
T2>

<|

3 5 2 6 1 4 0
|>

VA L V E 83 6  T A ND EM  ø  1 /2 "FF
<|

2 1 0 0 7 2 4
|>

C O IL  2 4 V
inlet ø 1/2"F - outlet ø 1/2"F for valve 830 TANDEM-836 TANDEM

 maximum gas inlet pressure 60 mbar  
 max.gas outlet pressure adjustment range 7÷50 mbar  
 outlet gas pressure setting range min.2÷45 mbar  
 room temperature 0÷60°C  
 power supply 230V 30A rectified  

    

ALBA  422700000007  

<|

2 1 0 0 7 5 7
|>

C O N NEC TION  FOR  O LIVE ø  1 6  m m
<|

3 0 3 0 0 0 1
|>

C O U PL IN G  EL EC TR IC  W IT H  C A BLE
thread ø 1/2"M for valve sit 824 NOVA-826 NOVA-836 TANDEM

    

<T1

ALBA
T1>



Suitable for: Suitable for:
<|

3 5 2 6 2 9 2
|>

C O U PL IN G  EL EC TR IC  W IT H  C A BLE
<|

3 5 2 6 1 4 2
|>

D O UB LE C OIL FO R  VA L VE
for valve sit 836 TANDEM 220V 50Hz

  for VALVE 830 TANDEM-836 TANDEM

    

<|

3 5 2 6 1 4 3
|>

M OD UL A TO R  C OIL
<|

3 0 2 0 0 8 3
|>

N UT  &  OL IV E ø 4  m m
220V  rectified

 for VALVE 836 TANDEM  

    

<|

3 0 2 0 0 8 4
|>

N UT  &  OL IV E ø 6  m m
<|

3 3 4 8 0 4 1
|>

P IP E O LIVE ø  16  m m
for model PEL 23

    

ALBA  319700958031  

<T2

Energy regulators
T2>

<|

3 3 5 0 0 2 6
|>

EN ER GY  AD JU ST ER
<| |>

contact capacity 230V 13A - max temperature 125°C
 D-shaped pin ø 6x4.6 mm  
 double rotation direction  
 for PYROCERAM. TOPS-SALAMANDERS-POTATO WARMERS  

    

ALBA  405611100089  

<T2

Feet
T2>

<|

3 3 1 3 0 0 5
|>

A D JU S TA BL E S/ST EEL FO O T Ø  2" x  h  13 5  M M
<| |>

with fixed screw M12x25 mm
 adjustable heigth 135÷200 mm  

    

ALBA  15116  

<T1

ALBA
T1>



Suitable for: Suitable for:

<T2

Fittings
T2>

<|

3 3 4 9 3 4 6
|>

N IC H EL -PL .H OS E-EN D  FIT TING  ø 1 /4"M  ø 1 2
<| |>

    

ALBA  12005  

<T2

Gas valves and accessories
T2>

<|

3 5 2 6 2 6 0
|>

EU R OS IT  VA L VE C A P
<| |>

    

ALBA  541910500631  

<|

3 5 2 6 2 5 8
|>

EU R OS IT  VA L VE FO R   F RYE R 1 1 0 ÷1 9 0 °C
<|

4 0 5 6 0 0 9
|>

C A P  FOR  V A LV E EU RO SIT
with new knob

 inlet ø 3/8" F - outlet ø 3/8"F  
 thermocouple connection M9x1  
 maximum gas inlet pressure 50 mbar  
 outlet pressure adjustment range  
 3÷18 mbar  
 ambient temperature 0÷120°C  
 capillary length 1050 mm  
 bulb ø 4x200 mm  
 RoHS certificated  

    

ALBA  541910500630  

<|

3 5 2 6 2 6 0
|>

EU R OS IT  VA L VE C A P
<|

5 0 5 0 4 0 0
|>

FITT IN G  F OR  OL IVE ø 1 0  m m
thread ø 3/8"M

    

ALBA  541910500631  

<|

3 5 2 6 1 2 7
|>

FL A NG E FO R  KN OB  EXT EN SION
<|

3 0 2 0 0 8 3
|>

N UT  &  OL IV E ø 4  m m

    

<T1

ALBA
T1>



Suitable for: Suitable for:
<|

3 0 2 0 0 8 4
|>

N UT  &  OL IV E ø 6  m m
<|

5 0 5 0 4 0 1
|>

O LIVE FO R  PIP E Ø 1 0  M M
external ø 13 mm - height 8 mm

    

ALBA  319700958031  

<|

3 0 2 0 0 8 2
|>

O LIVE FO R  1 2 m m  ø P IP E
<|

3 0 0 1 1 1 1
|>

P IEZ O IGN ITER  EU R OS IT
male faston ø 2.4 mm

    

<|

3 0 2 0 0 7 9
|>

P IP E FITT IN G  ø  1 2  m m
<|

5 0 2 1 4 8 1
|>

R A C C O RD O U SC IT A G A S  V A LV O LA
thread ø 3/8"M con manopola nuova

  entrata ø 3/8"F - uscita ø 3/8"F
  attacco termocoppia M9x1
  pressione massima di ingresso gas 50 mbar
  campo di taratura della pressione di
  uscita 3÷18 mbar
  temperatura ambiente 0÷120°C
  capillare lunghezza 1050 mm
  bulbo ø 4x200 mm
  certificata RoHS

    

<|

3 5 2 6 1 2 3
|>

R U BBER  PR O TEC TION  FO R EU R OS IT  VA L VE
<| |>

    

<|

3 5 2 6 1 3 0
|>

EU R OS IT  VA L VE FO R  O V EN 1 0 0 ÷3 4 0 °C
<|

4 0 5 6 0 0 9
|>

C A P  FOR  V A LV E EU RO SIT
inlet ø 3/8" F - outlet ø 3/8"F

 thermocouple connection M9x1  
 maximum gas inlet pressure 50 mbar  
 outlet pressure adjustment range  
 3÷18 mbar  
 ambient temperature 0÷120°C  
 capillary length 1050 mm  
 bulb ø 4x72 mm  

    

ALBA  541910630310  

<T1

ALBA
T1>



Suitable for: Suitable for:
<|

3 5 2 6 1 2 9
|>

C L A SP  ø  3 x1 4  m m
<|

3 5 2 6 2 6 0
|>

EU R OS IT  VA L VE C A P
UNI 6873 - DIN 1481 - ISO 8752

    

 ALBA  541910500631

<|

3 5 2 6 6 7 7
|>

EX TEN S IO N FO R  EUR O SIT V A LV E
<|

5 0 5 0 4 0 0
|>

FITT IN G  F OR  OL IVE ø 1 0  m m
D-shaped pin ø 10x8 mm thread ø 3/8"M

    

<|

3 5 2 6 1 2 7
|>

FL A NG E FO R  KN OB  EXT EN SION
<|

3 5 2 6 1 2 8
|>

K NO B EX TEN S IO N L EN G TH  3 4  m m
D-shaft ø 8x6.5 mm

    

<|

3 5 2 6 1 2 5
|>

K NO B EX TEN S IO N 4 7  m m
<|

3 0 2 0 0 8 3
|>

N UT  &  OL IV E ø 4  m m
D-shaped pin ø 8x6.5 mm

    

<|

3 0 2 0 0 8 4
|>

N UT  &  OL IV E ø 6  m m
<|

5 0 5 0 4 0 1
|>

O LIVE FO R  PIP E Ø 1 0  M M
external ø 13 mm - height 8 mm

    

ALBA  319700958031  

<|

3 0 2 0 0 8 2
|>

O LIVE FO R  1 2 m m  ø P IP E
<|

3 0 0 1 1 1 1
|>

P IEZ O IGN ITER  EU R OS IT
male faston ø 2.4 mm

    

<T1

ALBA
T1>



Suitable for: Suitable for:
<|

3 0 2 0 0 7 9
|>

P IP E FITT IN G  ø  1 2  m m
<|

5 0 2 1 4 8 1
|>

R A C C O RD O U SC IT A G A S  V A LV O LA
thread ø 3/8"M entrata ø 3/8"F - uscita ø 3/8"F

  attacco termocoppia M9x1
  pressione massima di ingresso gas 50 mbar
  campo di taratura della pressione di
  uscita 3÷18 mbar
  temperatura ambiente 0÷120°C
  capillare lunghezza 1050 mm
  bulbo ø 4x72 mm

    

<|

3 5 2 6 1 2 3
|>

R U BBER  PR O TEC TION  FO R EU R OS IT  VA L VE
<| |>

    

<|

3 5 2 3 9 4 9
|>

M IN IS IT  VA L VE F OR  FR YER  1 1 0÷ 1 9 0°C
<|

2 1 0 0 7 5 7
|>

C O N NEC TION  FOR  O LIVE ø  1 6  m m
inlet ø 1/2"F - outlet ø 3/8"F thread ø 1/2"M

 thermocouple connection M9x1  
 maximum gas inlet pressure 50 mbar  
 ambient temperature 0÷60°C  
 capillary length 1050 mm  
 bulb ø 6x105 mm  
 supplied without lid knob and flanges  

    

ALBA  405309000710  

<|

3 5 2 3 0 3 5
|>

K NO B M IN ISIT BL A C K  ø 3 7  m m
<|

3 1 8 2 0 0 3
|>

M A GN ET IC  U N IT  SIT
ø head 25 mm - ø end 17 mm - length 56 mm

  for valve SIT AC2 - VR8-MINISIT

    

<|

3 5 2 3 0 4 7
|>

M IN IS IT  C O VER
<|

3 5 2 3 0 3 8
|>

M IN IS IT  EL BOW  F LA N G E ø 1 /2 "F
with screws and "O" ring

    

<T1

ALBA
T1>



Suitable for: Suitable for:
<|

3 5 2 3 0 3 7
|>

M IN IS IT  EL BOW  F LA N G E ø 3 /8 "
<|

3 0 0 1 0 7 0
|>

M IN IS IT  P IEZ O IGN ITER
with screws and "O" ring a ø 22 mm hole is required for the assembly

  male faston ø 2.4 mm

    

<|

3 0 0 1 0 7 1
|>

M IN IS IT  P IEZ O IGN ITER  W IT H  C OV ER
<|

3 5 2 3 0 5 1
|>

M IN IS IT  SEN S IN G  ELEM EN T  11 0 ÷ 19 0 °C
male faston 2.4 mm capillary length 1050 mm

  bulb ø 6x105 mm

    

<|

3 5 2 3 0 6 1
|>

N UT  ø 1 /4 "x6  m m
<|

3 5 2 3 0 6 0
|>

O IL  SEA L  FIT TING  ø  6 .5  m m
internal thread M10x0.75 - external thread M14x1.5

    

<|

3 0 2 0 0 8 2
|>

O LIVE FO R  1 2 m m  ø P IP E
<|

3 0 2 0 0 7 9
|>

P IP E FITT IN G  ø  1 2  m m
thread ø 3/8"M

    

<|

3 3 4 8 0 4 4
|>

P IP E O LIVE ø  10  m m
<|

3 3 4 8 0 4 1
|>

P IP E O LIVE ø  16  m m
for model PEL 20 - 21 for model PEL 23

    

<T1

ALBA
T1>



Suitable for: Suitable for:
<|

5 0 5 8 3 2 0
|>

R A C C O RD O P ER  TU BO  ø 1 0  m m
<|

3 5 2 3 0 3 6
|>

R ED U C TIO N S TR A IG H T ø  3/8 "F  - ø 1 /2 "F
entrata ø 1/2"F - uscita ø 3/8"F in brass with internal and external thread

 attacco termocoppia M9x1  ø internal thread 3/8"F - ø external thread 1/2"F
 pressione massima di ingresso gas 50 mbar  for MINISIT flange
 temperatura ambiente 0÷60°C  
 capillare lunghezza 1050 mm  
 bulbo ø 6x105 mm  
 fornita senza coperchio manopola e flange  

    

<T2

Heating elements
T2>

<|

3 7 5 5 8 5 6
|>

H EA TING  EL EM EN T 1 0 2 0 0 W  2 3 0/4 0 0V
<|

3 1 8 6 6 9 7
|>

O -R ING  0 1 5 9  EPD M
length 300 mm - width 180 mm

 coupling M54x1.5 mm - complete with cables  
 complete with OR gaskets  

    

ALBA  541524700008  

<|

3 1 8 6 6 0 1
|>

O -R ING  0 4 2 0 0  EPD M
<|

3 7 5 5 6 5 2
|>

R IN G  NU T  1 "-3 /4 " FO R H EA T IN G EL EM EN T

    

<|

3 7 5 5 6 6 1
|>

H EA TING  EL EM EN T 1 5 0 0 0 W  2 3 0V
<|

1 1 8 6 7 1 5
|>

O -R ING  0 1 5 9  VITO N
length 300 mm - width 285 mm

 connection M54x1.5 mm - complete with cables  
 complete with OR gaskets  
 with two holes per bulb  

    

ALBA  541524000007  

<|

3 1 8 6 6 0 1
|>

O -R ING  0 4 2 0 0  EPD M
<|

3 7 8 6 4 5 9
|>

O -R ING  0 4 2 0 0  VITO N

    

<T1

ALBA
T1>



Suitable for: Suitable for:
<|

3 7 5 5 6 5 2
|>

R IN G  NU T  1 "-3 /4 " FO R H EA T IN G EL EM EN T
<| |>

    

<|

3 7 5 5 4 8 9
|>

H EA TING  EL EM EN T 6 8 0 0 W  2 3 0 V
<|

3 1 8 6 6 9 7
|>

O -R ING  0 1 5 9  EPD M
length 300 mm - width 110 mm

 connection M54x1.5 mm - with cables  
 with O-rings  

    

ALBA  541524000006  

<|

3 1 8 6 6 0 1
|>

O -R ING  0 4 2 0 0  EPD M
<|

3 7 5 5 6 5 2
|>

R IN G  NU T  1 "-3 /4 " FO R H EA T IN G EL EM EN T

    

<T2

Ignitors
T2>

<|

3 0 0 1 0 0 7
|>

P IEZ O IGN ITER
<| |>

a ø 22 mm hole is needed for the assembly
 2.4 mm ø male faston connector  

    

ALBA  541922045000  

<T2

Indicator lights
T2>

<|

3 2 2 1 1 3 2
|>

G R EEN IN D IC A T OR  L A M P  2 3 0 V
<|

3 2 2 1 0 9 5
|>

O RA N G E IN D IC A TO R  L A M P  2 30 V
head ø 13.5 mm - hole ø 10 mm - 120°C head ø 13.5 mm - hole ø 10 mm - 120°C

 universal application  universal application

    

ALBA  347561183522 ALBA  347561183600  ALBA  347561183523 ALBA  347561183610

<T1

ALBA
T1>



Suitable for: Suitable for:

<T2

Injectors
T2>

<|

3 5 0 0 0 4 0
|>

G A S JET  M 9 x1  ø 0 .8 5  m m
<|

3 5 0 0 0 4 3
|>

G A S JET  M 9 x1  ø 1 .1 0  m m

    

ALBA  541910060085  ALBA  000007042707 ALBA  541910060110

<|

3 5 0 0 0 4 6
|>

G A S JET  M 9 x1  ø 1 .2 5  m m
<|

3 5 0 0 0 5 0
|>

G A S JET  M 9 x1  ø 1 .8 0  m m

    

ALBA  541910060130  ALBA  000007042750 ALBA  541910060170

<|

3 5 0 0 0 5 1
|>

G A S JET  M 9 x1  ø 1 .9 0  m m
<| |>

    

ALBA  000007042716  

<T2

Interference suppression filters
T2>

<|

3 1 6 0 4 7 9
|>

IN T ER FER ENC E SU P . FIL TER  D .E.M .FC 7 01 Y 2 FL
<| |>

0.47µF

    

ALBA  15149  

<T2

Ironmongery (screws,nuts,washers)
T2>

<|

3 0 6 0 0 6 9
|>

H EXA G O NA L  N UT  M 8  M ED IU M
<|

1 5 2 8 0 3 0
|>

M ID  H EX A GO N A L N U T M 6
stainless steel - UNI 5588 - DIN 934 - ISO 4032 stainless steel - UNI 5588 - DIN 934 - ISO 4032

    

ALBA  11702  ALBA  11706

<T1

ALBA
T1>



Suitable for: Suitable for:

<T2

Microswitches
T2>

<|

3 2 4 0 4 0 7
|>

M IC R O SW ITC H K IT  1 6 A  25 0 V
<|

3 2 4 0 5 6 8
|>

M IC R O SW ITC H EF8 3 1 6 1 .3  1 6 A  2 5 0 V
3 locking positions

 the kit includes 5 levers:  
 lever 75 mm - lever 27 mm - lever 15 mm  
 lever 15 mm with wheel - lever 27 mm with wheel  

    

ALBA  10704  

<T2

OR and ORM gaskets
T2>

<|

3 1 8 6 0 1 3
|>

O -R ING  G A SK ET 0 6 1 8 7  EP D M  ø 5 8  m m
<|

3 1 8 6 0 1 4
|>

O -R ING  G A SK ET 0 6 2 2 5  EP D M  ø 6 7  m m

    

ALBA  13005  ALBA  13015

<|

1 1 8 6 4 1 1
|>

O -R ING  0 2 0 3 1  EPD M
<| |>

    

ALBA  13002  

<T2

Pilot burners and accessories
T2>

<|

3 0 2 0 0 8 4
|>

N UT  &  OL IV E ø 6  m m
<|

3 0 2 0 2 0 2
|>

P IL OT  G A S JET  ø 0 .2 7  m m

    

ALBA  319700958031  ALBA  541933977270

<|

3 0 2 0 0 4 3
|>

P IL OT  G A S JET  ø 0 .3 6  m m
<|

3 0 2 0 0 5 4
|>

P IL OT  JET  ø 0 .2 0  m m

    

ALBA  541933977115  ALBA  541933977028

<T1

ALBA
T1>



Suitable for: Suitable for:

<|

3 0 2 0 0 5 5
|>

P IL OT  JET  ø 0 .3 5  m m
<| |>

    

ALBA  541933977031  

<|

3 0 2 0 2 5 1
|>

T AR G ET  O N E-FLA M E P IL O T BU R NE R S IT
<|

5 0 1 4 7 5 7
|>

C O N NEC TION  P IP E ø 6  m m
without sparking plug, gas nozzle and gasket thread M10x1 mm

    

ALBA  541933290080  

<|

3 0 2 0 0 8 5
|>

FITT IN G  F OR  SP A R KIN G P L UG  FIXIN G M 1 0 x1m m
<|

3 0 2 0 2 0 0
|>

FITT IN G  F OR  TH ER M OC OU P LE ø  6 .5  m m
thread M10x1

    

<|

5 0 2 2 0 5 0
|>

N OZ ZL E FOR  P IL O T BU R NE R ø  0.50  m m
<|

3 0 2 0 1 1 4
|>

O LIVE FO R  PIP E ø 6  m m

    

<|

3 3 4 8 0 3 6
|>

O LIVE FO R  4  m m  ø P IP E
<|

3 0 2 0 2 0 1
|>

P IL OT  G A S JET  ø 0 .1 4  m m
for model PEL 21-22

    

<|

3 0 2 0 0 4 2
|>

P IL OT  G A S JET  ø 0 .1 9  m m
<|

3 0 2 0 5 4 2
|>

P IL OT  G A S JET  ø 0 .2 0  m m

    

<T1

ALBA
T1>



Suitable for: Suitable for:
<|

3 0 2 0 2 0 2
|>

P IL OT  G A S JET  ø 0 .2 7  m m
<|

3 0 2 0 0 4 3
|>

P IL OT  G A S JET  ø 0 .3 6  m m

    

ALBA  541933977270  ALBA  541933977115

<|

3 0 2 0 5 4 3
|>

P IL OT  G A S JET  ø 0 .3 8  m m
<|

3 0 2 0 1 1 3
|>

P IL OT  O LIVE FO R  PIP E ø 4  m m

    

<|

3 0 2 0 0 7 7
|>

P IP E FITT IN G  ø  4  m m
<|

3 3 4 8 0 2 9
|>

P IP E FITT IN G  ø  4  m m
thread M10x1 thread M10x1

  for model PEL 21-22

    

<|

3 0 2 0 0 7 8
|>

P IP E FITT IN G  ø  6  m m
<|

3 0 2 0 2 9 4
|>

R OU N D  IG N IT IO N  ELEC TR OD E ø 7 x44  m m
thread M10x1 M faston M4x1 mm

  overall length 67 mm

    

<|

3 0 0 1 0 0 3
|>

R OU N D  SP A R K IN G P L U G ø  7x4 4  m m
<|

3 0 2 0 0 6 0
|>

S PA R K IN G  P L U G R O UN D  ø  7x4 4  m m
male faston M4x1 mm faston M 4x1 mm

 total length 65 mm  overall length 82 mm
  model CB505/021 Junkers
  for model P502F

    

ALBA  541910055036  

<|

3 0 2 0 1 2 4
|>

S PA R K IN G  P L U G R O UN D  ø  7x4 4  m m
<|

3 0 2 0 3 6 5
|>

S PA R K IN G  P L U G R O UN D  ø  7x4 4  m m
connection ø 2.4 mm connection ø 2.4 mm

 overall length 58 mm  overall length 52 mm

    

<T1

ALBA
T1>



Suitable for: Suitable for:

<|

3 0 2 0 0 0 6
|>

T HR EE-FL A M E P ILO T B UR N ER  SIT
<|

5 0 1 4 7 5 7
|>

C O N NEC TION  P IP E ø 6  m m
multigas with jet  ø 0.20 mm thread M10x1 mm

 with 3 positions bracket  

    

ALBA  541910500054  

<|

5 0 4 8 7 1 3
|>

D EFL EC T OR  3  FL A M ES
<|

3 0 2 0 1 0 2
|>

H EXA G O N H EA D  S C R EW  3 /1 6 "x1 8  m m

    

<|

4 0 5 8 5 2 5
|>

N OZ ZL E FOR  P IL O R BU R N ER  ø 0 .3 0  m m
<|

3 0 2 0 0 8 3
|>

N UT  &  OL IV E ø 4  m m

    

<|

3 0 2 0 0 8 4
|>

N UT  &  OL IV E ø 6  m m
<|

3 0 2 0 0 8 2
|>

O LIVE FO R  1 2 m m  ø P IP E

    

ALBA  319700958031  

<|

3 3 4 8 0 3 6
|>

O LIVE FO R  4  m m  ø P IP E
<|

3 0 2 0 0 8 1
|>

O LIVE FO R  6  m m  ø P IP E
for model PEL 21-22

    

<|

3 0 2 0 0 9 7
|>

P IL OT  A ER A TION  R EGU L A TO R
<|

3 0 2 0 3 0 8
|>

P IL OT  A SS EM BL Y W IT H  N O ZZ LE ø  0 .4 0  m m
internal ø 7 mm - external ø 9 mm

 height 10 mm  

    

<T1

ALBA
T1>



Suitable for: Suitable for:
<|

3 0 2 0 0 5 4
|>

P IL OT  JET  ø 0 .2 0  m m
<|

3 0 2 0 1 5 6
|>

P IL OT  JET  ø 0 .2 5  m m

    

ALBA  541933977028  

<|

3 0 2 0 0 5 5
|>

P IL OT  JET  ø 0 .3 5  m m
<|

5 0 1 5 5 1 6
|>

P IL OT  N OZ ZL E ø 0 .4 0  m m

    

ALBA  541933977031  

<|

3 5 0 0 2 6 9
|>

P IL OT  N OZ ZL E ø 0 .4 5  m m
<|

3 0 2 0 1 0 5
|>

P IL OT  W IT H  0 .2 0  m m  ø JET

    

<|

3 0 2 0 1 0 6
|>

P IL OT  W IT H  0 .2 5  m m  ø JET
<|

3 0 2 0 1 0 7
|>

P IL OT  W IT H  0 .3 5  m m  ø JET

    

<|

3 0 2 0 0 7 9
|>

P IP E FITT IN G  ø  1 2  m m
<|

3 0 2 0 0 7 7
|>

P IP E FITT IN G  ø  4  m m
thread ø 3/8"M thread M10x1

    

<|

5 0 3 3 1 3 8
|>

P IP E FITT IN G  ø  4  m m
<|

3 0 2 0 0 7 8
|>

P IP E FITT IN G  ø  6  m m
thread ø 1/8"M thread M10x1

    

<T1

ALBA
T1>



Suitable for: Suitable for:
<|

5 0 2 7 9 5 3
|>

P IP E O LIVE  ø  4  m m
<|

3 0 2 0 2 9 4
|>

R OU N D  IG N IT IO N  ELEC TR OD E ø 7 x44  m m
for COPRECI CAL3200 M faston M4x1 mm

  overall length 67 mm

    

<|

3 0 0 1 0 0 3
|>

R OU N D  SP A R K IN G P L U G ø  7x4 4  m m
<|

3 0 2 0 0 6 0
|>

S PA R K IN G  P L U G R O UN D  ø  7x4 4  m m
male faston M4x1 mm faston M 4x1 mm

 total length 65 mm  overall length 82 mm
  model CB505/021 Junkers
  for model P502F

    

ALBA  541910055036  

<|

3 0 2 0 1 2 4
|>

S PA R K IN G  P L U G R O UN D  ø  7x4 4  m m
<|

3 0 2 0 3 6 5
|>

S PA R K IN G  P L U G R O UN D  ø  7x4 4  m m
connection ø 2.4 mm connection ø 2.4 mm

 overall length 58 mm  overall length 52 mm

    

<|

3 0 2 0 1 1 0
|>

T HR EE-FL A M E D EFLEC TO R
<|

3 0 2 0 1 0 3
|>

T HR EE-P OS IT IO N  BRA C KET

    

<|

3 0 2 0 1 0 4
|>

T HR EE-P OS IT IO N  BRA C KET  C L AM P
<| |>

    

<T1

ALBA
T1>



Suitable for: Suitable for:

<T2

Relays
T2>

<|

3 3 5 1 0 2 1
|>

P OW E R R EL A Y FIN D ER  6 2 .8 2 .8 .2 3 0 .0 0 00
<| |>

230V 50/60Hz
 2 exchange contacts 16A  

    

ALBA  15620  

<T2

Rotary switches
T2>

<|

3 0 5 7 1 7 7
|>

S ELEC TO R S W IT C H  0 -1  P O SITION S
<|

3 0 5 7 0 2 2
|>

S ELEC TO R S W IT C H  0 -1  0 -1  P OS IT IO NS
contact capacity 16A 250V - max 150°C contact capacity 16A 250V - max 150°C

 D-shaped pin ø 6x4.6 mm  D-shaped pin ø 6x4.6 mm

    

ALBA  345355300002  ALBA  345362103751

<|

3 0 5 7 0 9 4
|>

S ELEC TO R S W IT C H  0 -1  0 -1  P OS IT IO NS
<| |>

contact capacity 32A 250V - max 150°C
 D-shaped pin ø 6x4.6 mm  

    

ALBA  345355000000  

<T2

Safety groups for pans and spare parts
T2>

<|

3 1 8 4 0 0 7
|>

P R ESS UR E G A U GE ø  6 0 m m
<| |>

in chrome plated brass
 radial connection 1/4"  
 scale 0-1 bar  
 for safety groups  

    

ALBA  388411221358  

<T1

ALBA
T1>



Suitable for: Suitable for:

<T2

Solenoid valves
T2>

<|

3 1 2 0 0 0 5
|>

S OL EN . VA L VE EL BI T YP E 3 2 9  1  W AY  1 80 °
<|

3 1 2 0 0 1 9
|>

A D JU S TER  FO R INL ET  ELB I BL A C K
220/240V 50/60Hz - max. temperature 90°C flow rate 5.5 L/min - tolerance +/- 15%

 inlet 3/4" - outlet ø 10.5 mm  

    

ALBA  10703  

<|

3 1 2 0 0 2 1
|>

A D JU S TER  FO R INL ET  ELB I BL A C K
<|

3 1 2 0 0 2 2
|>

A D JU S TER  FO R INL ET  ELB I BL A C K
flow rate 12 L/min - tolerance +/- 15% flow rate 16 L/min - tolerance +/- 15%

    

<|

3 1 2 0 2 0 4
|>

A D JU S TER  FO R O U TL ET EL BI BR OW N
<|

3 1 2 0 2 0 1
|>

A D JU S TER  FO R O U TL ET EL BI GR A Y
flow rate 5.5 L/min - tolerance +/- 25% flow rate 4.7 L/min - tolerance +/- 25%

    

<|

3 1 2 0 0 3 7
|>

A D JU S TER  FO R O U TL ET EL BI GR EEN
<|

3 1 2 0 0 1 6
|>

A D JU S TER  FO R O U TL ET EL BI NEU T RA L
flow rate 0.25 L/min - tolerance +/- 25% flow rate 1.2 L/min - tolerance +/- 25%

    

<|

3 1 2 0 0 1 7
|>

A D JU S TER  FO R O U TL ET EL BI OR A N GE
<|

3 1 2 0 0 1 5
|>

A D JU S TER  FO R O U TL ET EL BI RED
flow rate 2.5 L/min - tolerance +/- 25% flow rate 0.5 L/min - tolerance +/- 25%

    

<|

3 1 2 0 2 0 3
|>

A D JU S TER  FO R O U TL ET EL BI W HITE
<|

3 1 2 0 2 0 2
|>

A D JU S TER  FO R O U TL ET EL BI YEL LO W
flow rate 2 L/min - tolerance +/- 25% flow rate 0.35 L/min / tolerance +/- 25%

    

<T1

ALBA
T1>



Suitable for: Suitable for:
<|

3 1 2 0 0 0 0
|>

FILT ER  FOR  IN L ET S OL EN OID  VA L V E ELBI
<| |>

    

<|

3 1 2 0 0 0 9
|>

S OL EN . VA L VE EL BI T YP E 3 5 1  1  W AY  1 80 °
<|

3 1 2 0 0 1 9
|>

A D JU S TER  FO R INL ET  ELB I BL A C K
220/240V 50/60Hz - max. temperature 90°C flow rate 5.5 L/min - tolerance +/- 15%

 inlet 3/4" - outlet ø 13.5 mm  

    

ALBA  30001000  

<|

3 1 2 0 0 2 1
|>

A D JU S TER  FO R INL ET  ELB I BL A C K
<|

3 1 2 0 0 2 2
|>

A D JU S TER  FO R INL ET  ELB I BL A C K
flow rate 12 L/min - tolerance +/- 15% flow rate 16 L/min - tolerance +/- 15%

    

<|

3 1 2 0 2 0 4
|>

A D JU S TER  FO R O U TL ET EL BI BR OW N
<|

3 1 2 0 2 0 1
|>

A D JU S TER  FO R O U TL ET EL BI GR A Y
flow rate 5.5 L/min - tolerance +/- 25% flow rate 4.7 L/min - tolerance +/- 25%

    

<|

3 1 2 0 0 3 7
|>

A D JU S TER  FO R O U TL ET EL BI GR EEN
<|

3 1 2 0 0 1 6
|>

A D JU S TER  FO R O U TL ET EL BI NEU T RA L
flow rate 0.25 L/min - tolerance +/- 25% flow rate 1.2 L/min - tolerance +/- 25%

    

<|

3 1 2 0 0 1 7
|>

A D JU S TER  FO R O U TL ET EL BI OR A N GE
<|

3 1 2 0 0 1 5
|>

A D JU S TER  FO R O U TL ET EL BI RED
flow rate 2.5 L/min - tolerance +/- 25% flow rate 0.5 L/min - tolerance +/- 25%

    

<T1

ALBA
T1>



Suitable for: Suitable for:
<|

3 1 2 0 2 0 3
|>

A D JU S TER  FO R O U TL ET EL BI W HITE
<|

3 1 2 0 2 0 2
|>

A D JU S TER  FO R O U TL ET EL BI YEL LO W
flow rate 2 L/min - tolerance +/- 25% flow rate 0.35 L/min / tolerance +/- 25%

    

<|

3 1 2 0 0 0 0
|>

FILT ER  FOR  IN L ET S OL EN OID  VA L V E ELBI
<| |>

    

<|

3 1 2 0 3 6 8
|>

S OL EN OID  VA L VE O D E ø 3 /4 "FF 2 2 0 /2 3 0 V
<|

1 1 2 0 8 2 0
|>

coil OD E BD A 0 8 2 2 3D S 2 2 0 /2 3 0 V 5 0 /6 0 H z
for steam - NC 14.5 VA

 max temperature 140°C  width 30 mm - height 39 mm - depth 42 mm
 max differential pressure 25 bar  
 coil '220/230V 50Hz - flowrate 140 L/min  

    

ALBA  405652000000  

<|

3 1 2 0 0 3 4
|>

FEM A L E LA R G E C ON N EC T OR
<| |>

for coils

    

<T2

Spark generators
T2>

<|

3 1 8 1 0 0 3
|>

S PA R K  GEN ER A TO R  4  OU TL ET S
<| |>

220/240V  50/60Hz

    

ALBA  405309772016  

<T1

ALBA
T1>



Suitable for: Suitable for:

<T2

Sparking and detection plugs
T2>

<|

3 0 0 1 0 0 3
|>

R OU N D  SP A R K IN G P L U G ø  7x4 4  m m
<|

3 0 2 0 0 6 8
|>

S PA R K IN G  P L U G R O UN D  ø  7x4 4  m m
male faston M4x1 mm square coupling

 total length 65 mm  faston M M4x1 mm
  overall length 63 mm

    

ALBA  541910055036  ALBA  541910055709

<T2

Taps for tank refilling
T2>

<|

3 3 5 8 0 0 9
|>

W A TE R INL ET  TA P  ø 1 /2 "FF
<|

3 2 4 1 8 2 6
|>

T AP  K NO B

    

ALBA  551413035030 ALBA  551413035031  

<T2

Telethermometers
T2>

<|

3 4 4 1 0 1 1
|>

BL A C K  TEL ETH ER M OM ET ER  5 6x2 5  m m  0 -1 2 0 °C
<|

3 4 4 1 0 1 1
|>

BL A C K  TEL ETH ER M OM ET ER  5 6x2 5  m m  0 -1 2 0 °C
plastic case plastic case

 capillary length 1500 mm  capillary length 1500 mm
 bulb ø 6x15 mm  bulb ø 6x15 mm

    

ALBA  10500005  ALBA  10500005

<T2

Terminal blocks
T2>

<|

3 2 4 7 0 1 6
|>

3 -PO L E TER M IN A L  BLO C K  FV2 7 3  4 0 A  4 5 0 V
<|

3 2 4 7 0 0 9
|>

6 -PO L E TER M IN A L  BLO C K  FV1 2 2 /B  4 0 A  6 0 0 V
for cable max 6 mm2 for cable max 6 mm2

 operating temperature 150°C  operating temperature 150°C
 nominal voltage 450 V  nominal voltage 450 V

    

ALBA  500550  ALBA  500551

<T1

ALBA
T1>



Suitable for: Suitable for:

<T2

Thermocouples and accessories
T2>

<|

3 4 4 0 0 1 5
|>

IN T ER RU P TION  C O N NEC TO R  M 9 x1
<| |>

    

ALBA  541910000400  

<|

3 4 4 0 0 5 4
|>

T HER M O C OU P LE  SIT  M 8 x1  8 5  cm  TH R EA D  M 8 x1
<|

3 4 4 0 8 5 4
|>

T HER M O C OU P LE  SIT  M 8 x1  8 5  cm  - 1 0  P C S
CONNECTOR M8x1

    

ALBA  541100427760  

<|

3 4 4 0 8 3 7
|>

T HER M O C OU P LE  SIT  M 9 x1  1 0 0  cm  - 1 0  P C S
<| |>

    

ALBA  541933290088 ALBA  541933290091  

<|

3 4 4 0 0 3 7
|>

T HER M O C OU P LE  SIT  M 9 x1  1 0 0  cm .
<|

3 4 4 0 8 3 7
|>

T HER M O C OU P LE  SIT  M 9 x1  1 0 0  cm  - 1 0  P C S

    

ALBA  541933290088 ALBA  541933290091  ALBA  541933290088 ALBA  541933290091

<|

3 4 4 0 0 8 0
|>

T HER M O C OU P LE  SIT  M 9 x1  4 0  cm .
<|

3 4 4 0 8 8 0
|>

T HER M O C OU P LE  SIT  M 9 x1  4 0  cm  - 1 0  P C S

    

ALBA  541933290082 ALBA  541933290231  

<|

3 4 4 0 0 4 9
|>

T HER M O C OU P LE  SIT  M 9 X1  7 5  cm
<|

3 4 4 0 8 4 9
|>

T HER M O C OU P LE  SIT  M 9 x1  7 5  cm  - 1 0  P C S

    

ALBA  541933290750  

<T1

ALBA
T1>



Suitable for: Suitable for:

<T2

Thermostats
T2>

<|

3 4 4 4 9 7 4
|>

S IN GL E-P HA S E TH ER M OS TA T  1 0 0 -6 1 5 °C
<|

3 4 4 4 7 3 6
|>

S IN GL E-P HA S E TH ER M OS TA T  1 3 0 °C
complete with switch with manual reset

 D-shaped pin ø 6x4.6 mm  capillary length 850 mm - 16A 230V
 covered capillary length 1100 mm - 16A 250V  bulb ø 6x130 mm
 bulb ø 4x230 mm  

    

ALBA  405611100083  ALBA  405611100076

<|

3 4 4 4 1 9 9
|>

S IN GL E-P HA S E TH ER M OS TA T  2 3 0 °C
<|

3 4 4 4 0 1 9
|>

S IN GL E-P HA S E TH ER M OS TA T  3 0 -9 0 °C
with manual reset D-shaped pin ø 6x4.6 mm

 complete with wiring  capillary length 1000 mm - 16A 250V
 covered capillary length 850 mm - 16A 230V  bulb ø 6x130 mm
 bulb ø 4x120 mm - with adapter nipple bland M9x1  

    

ALBA  405611000091  ALBA  405611100073

<|

3 4 4 4 6 6 3
|>

S IN GL E-P HA S E TH ER M OS TA T  5 0 -1 9 5 °C
<|

3 4 4 4 3 7 6
|>

S IN GL E-P HA S E TH ER M OS TA T  9 5 -1 9 0 °C
D-shaped pin ø 6x4.6 mm D-shaped pin ø 6x4.6 mm

 covered capillary length 2300 mm  covered capillary length 1010 mm - 16A 250V
 bulb ø 4x160 mm  bulb ø 6x100 mm - with adapter nipple band M10x1

    

ALBA  405611100088  ALBA  345353000006

<|

3 4 4 4 3 0 7
|>

T HR EE-P HA S E TH ER M OS TA T  2 3 0 °C
<|

3 4 4 4 5 0 6
|>

T HR EE-P HA S E TH ER M OS TA T  2 4 0 °C
with manual reset with manual reset

 covered capillary length 900 mm - 10A 400V  covered capillary length 900 mm - 10A 400V
 bulb ø 6x100 mm - with adapter nipple band M10x1  bulb ø 4x150 mm

    

ALBA  405611000007  ALBA  405611100087

<T1

ALBA
T1>



Suitable for: Suitable for:

<|

3 4 4 4 5 9 2
|>

T HR EE-P HA S E TH ER M OS TA T  3 4 0 °C
<|

3 4 4 4 2 5 1
|>

T HR EE-P HA S E TH ER M OS TA T  5 0 -3 0 0 °C
with manual reset D-shaped pin ø 6x4.6 mm

 capillary length 1190 mm  covered capillary length 1100 mm - 10A 400V
 bulb ø 4x128 mm  bulb ø 3x220 mm

    

ALBA  405611100084  ALBA  405611100074 ALBA  405611100082

<T1

ALBA
T1>



The data herewith contained may change without notice and LF SpA cannot be 

held responsible for possible errors stated or resulting by the use of this document.

All rights reserved. No part of this publication may be reproduced without written 

permission by LF SpA.


	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2

